

- [14] J. Rosiński and J. Śliwa, *The number of factorizations in an algebraic number field*, Bull. Acad. Polon. Sci. Sér. Sci. Math. Astronom. Phys. 24 (1976), pp. 821–826.
- [15] P. Turán, *On a theorem of Hardy and Ramanujan*, J. London Math. Soc. 9 (1934), pp. 274–276.
- [16] – *Über einige Verallgemeinerungen eines Satzes von Hardy und Ramanujan*, ibid. 11 (1936), pp. 125–133.

SCICON COMPUTER SERVICES
Brick Close, Kilm Farm
Milton Keynes, England

DEPARTMENT OF PURE MATHEMATICS
UNIVERSITY COLLEGE, CARDIFF
Cardiff, Wales

Received on 30. 5. 1977
and in revised form on 21. 6. 1977

(948)

A note on some polynomial identities

by

L. CARLITZ (Durham, N. C.)

1. Hirschhorn [2] has proved the polynomial identities

$$(1.1) \quad \prod_{r=1}^{3n} (1-x^r) = (1-x^{3n+3}) \dots (1-x^{6n}) + \sum_{r=1}^n (-1)^r (x^{r(3r-1)/2} + x^{r(3r+1)/2}) \times \\ \times (1-x^{3n-3r+3}) \dots (1-x^{3n})(1-x^{3n-3r+3}) \dots (1-x^{6n})$$

and

$$(1.2) \quad \prod_{r=1}^n (1-x^r)^3 = \sum_{r=0}^n (-1)^r (2r+1) x^{r(r+1)/2} \times \\ \times (1-x^{n-r+1}) \dots (1-x^n)(1-x^{n+r+2}) \dots (1-x^{2n+1}).$$

He showed also that (1.1) and (1.2) imply

$$(1.3) \quad \prod_{r=1}^{\infty} (1-x^r) = 1 + \sum_{r=1}^{\infty} (-1)^r (x^{r(3r-1)/2} + x^{r(3r+1)/2})$$

and

$$(1.4) \quad \prod_{r=1}^{\infty} (1-x^r)^3 = \sum_{r=0}^{\infty} (-1)^r (2r+1) x^{r(r+1)/2},$$

the identities of Euler and Jacobi, respectively.

In this note we show that

$$(1.5) \quad \prod_{r=1}^{3n} (1-x^{r/3}) = (x)_n \sum_{r=-n}^n (-1)^r \begin{bmatrix} 2n \\ n-r \end{bmatrix} x^{r(r-1)/2+r/3}$$

and

$$(1.6) \quad \prod_{r=1}^n (1-x^r)^2 = \sum_{r=0}^n (-1)^r (2r+1) \begin{bmatrix} 2n+1 \\ n-r \end{bmatrix} x^{r(r+1)/2},$$

where

$$(x)_n = (1-x)(1-x^2) \dots (1-x^n)$$

and

$$\left[\begin{matrix} n \\ k \end{matrix} \right] = \frac{(x)_n}{(x)_k (x)_{n-k}} = \left[\begin{matrix} n \\ n-k \end{matrix} \right], \quad 0 \leq k \leq n.$$

The formulas (1.5) and (1.6) are equivalent to (1.1) and (1.2), respectively, and are easily proved by using the well known formula ([1], p. 280)

$$(1.7) \quad \prod_{k=0}^{n-1} (1 - ax^k) = \sum_{k=0}^n (-1)^k \left[\begin{matrix} n \\ k \end{matrix} \right] a^k x^{k(k-1)/2}.$$

2. We have

$$\begin{aligned} \sum_{r=-n}^n (-1)^r \left[\begin{matrix} 2n \\ n-r \end{matrix} \right] x^{r(r-1)/2 + r/3} &= \sum_{r=0}^{2n} (-1)^{n-r} \left[\begin{matrix} 2n \\ r \end{matrix} \right] x^{(n-r)(n-r-1)/2 + (n-r)/3} \\ &= (-1)^n x^{n(n-1)/2 + n/3} \sum_{r=0}^{2n} (-1)^r \left[\begin{matrix} 2n \\ r \end{matrix} \right] x^{-nr + 2r/3} x^{r(r-1)/2}. \end{aligned}$$

Hence, by (1.7) with $a = x^{-n+2/3}$, we get

$$\begin{aligned} (-1)^n x^{n(n-1)/2 + n/3} \prod_{k=0}^{2n-1} (1 - x^{-n+k+2/3}) &= \prod_{k=0}^{n-1} (1 - x^{(3n-3k-2)/3}) \cdot \prod_{k=0}^{n-1} (1 - x^{(3k+2)/3}) \\ &= \prod_{k=0}^{n-1} (1 - x^{(3k+1)/3}) \cdot \prod_{k=0}^{n-1} (1 - x^{(3k+2)/3}). \end{aligned}$$

This evidently proves (1.5).

In the next place, by (1.7),

$$\begin{aligned} (2.1) \quad \sum_{r=0}^{2n+1} (-1)^r \left[\begin{matrix} 2n+1 \\ r \end{matrix} \right] a^r x^{(n-r)(n-r+1)/2} \\ = x^{n(n+1)/2} \sum_{r=0}^{2n+1} (-1)^r \left[\begin{matrix} 2n+1 \\ r \end{matrix} \right] (ax^{-n})^r x^{r(r-1)/2} = x^{n(n+1)/2} \prod_{k=0}^{2n} (1 - ax^{-n+k}). \end{aligned}$$

On the other hand

$$\begin{aligned} &\sum_{r=0}^{2n+1} (-1)^r \left[\begin{matrix} 2n+1 \\ r \end{matrix} \right] a^r x^{(n-r)(n-r+1)/2} \\ &= \sum_{r=0}^n (-1)^r \left[\begin{matrix} 2n+1 \\ r \end{matrix} \right] a^r x^{(n-r)(n-r+1)/2} + \sum_{r=n+1}^{2n+1} (-1)^{n+r+1} \left[\begin{matrix} 2n+1 \\ n+r+1 \end{matrix} \right] a^{n+r+1} x^{r(r+1)/2} \\ &= \sum_{r=0}^n (-1)^{n-r} \left[\begin{matrix} 2n+1 \\ n-r \end{matrix} \right] a^{n-r} x^{r(r+1)/2} + \sum_{r=0}^n (-1)^{n+r+1} \left[\begin{matrix} 2n+1 \\ n-r \end{matrix} \right] a^{n+r+1} x^{r(r+1)/2} \\ &= \sum_{r=0}^n (-1)^{n+r} \left[\begin{matrix} 2n+1 \\ n-r \end{matrix} \right] x^{r(r+1)/2} (a^{n-r} - a^{n+r+1}). \end{aligned}$$

Thus, by (2.1), we have

$$(2.2) \quad x^{n(n+1)/2} \prod_{k=0}^{2n} (1 - ax^{-n+k}) = \sum_{r=0}^n (-1)^{n+r} \left[\begin{matrix} 2n+1 \\ n-r \end{matrix} \right] x^{r(r+1)/2} (a^{n-r} - a^{n+r+1})$$

and therefore

$$(2.3) \quad \prod_{k=0}^{n-1} (1 - ax^k)(a - x^k) = \sum_{r=0}^n (-1)^r \left[\begin{matrix} 2n+1 \\ n-r \end{matrix} \right] x^{r(r+1)/2} \frac{a^{n-r} - a^{n+r+1}}{1-a}.$$

For $a = 1$, (2.3) evidently yields (1.6).

3. In (1.7) replace n by $2n$ and a by $-\frac{1}{2}ax$. Thus

$$\prod_{k=0}^{2n-1} (1 + ax^{k+1/2}) = \sum_{k=0}^{2n} \left[\begin{matrix} 2n \\ k \end{matrix} \right] a^k x^{k^2/2}.$$

If we now replace a by ax^{-n} , we get, after some manipulation,

$$(3.1) \quad \prod_{k=0}^{n-1} (1 + ax^{k+1/2})(1 + a^{-1}x^{k+1/2}) = \sum_{k=-n}^n \left[\begin{matrix} 2n \\ n-k \end{matrix} \right] a^k x^{k^2/2}.$$

Clearly (1.5) is a special case of (3.1).

Replacing x by x^2 , (3.1) becomes

$$(3.2) \quad \prod_{k=1}^{n-1} (1 + ax^{2k-1})(1 + a^{-1}x^{2k-1}) = \sum_{k=-n}^n \left[\begin{matrix} 2n \\ n-k \end{matrix} \right]' a^k x^{k^2},$$

where

$$\left[\begin{matrix} 2n \\ n-k \end{matrix} \right]' = \frac{(1-x^{4n})(1-x^{4n-2}) \dots (1-x^{2n+2k+2})}{(1-x^2)(1-x^4) \dots (1-x^{2n-2k})}.$$

For $n \rightarrow \infty$, (3.2) yields the Jacobi theta formula ([1], p. 282)

$$\prod_{k=1}^{\infty} (1 - x^{2k})(1 + ax^{2k-1})(1 + a^{-1}x^{2k-1}) = \sum_{k=-\infty}^{\infty} a^k x^{k^2}.$$

References

- [1] G. H. Hardy and E. M. Wright, *An introduction to the theory of numbers*, Clarendon Press, 4th ed., Oxford 1960.
- [2] M. D. Hirschhorn, *Polynomial identities which imply identities of Euler and Jacobi*, Acta Arith. 32 (1977), pp. 73-78.

Received on 24. 6. 1977

(956)